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LT H23.4.14 BRULV = (SR ND ND ND
—EE H23.4.14 BEERLLM =T (HEER) ND ND 6.3
Y H23.4.14 BARLLF(5ESR) ND ND ND
= H23.4.14 FARLLV =7 (BRED ND ND ND
th H23.4.14 BB A (fEER) ND ND ND
BED H23.4.14 BT A7 (HEES) ND ND ND
Fhilish H23.4.14 T/ (ER ND ND ND
=BT H23.4.14 [EARLL=1F (SR ) 38 450 430
ERdyT H23.4.14 FRALLF (Fih) 79 130 130
WhET - H23.4.14 FEARLW =T (Fhh) {80 140 130
AY o377 H23.4.14 [EARLU =T (Fih) 330 47 51
AR H23.4.14 BEARLW=1T (Fih) 25 14 30
HEED H23.4.14 FRLWL=0 (Bhh) 440 480 500
PiET H23.4.14 FRARLLM=I (FE k) 160 480 480
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I ERET H23.4.14 FARLW =0 (EH) 85 230 250
T H23.4.14 BARLWL = (Eh) 47 190 200
e H23.4.14 BERLW=1F(Fih) 13 24 29
RERAT H23.4.14 RALN= () i6 i1 13

YSET H23.4.14 RARLC T (i) 21 63 60
AT H23.4.14 RARLL= T (FRiR) 65 47 46
Enist H23.4.14 FARLL = (k) 62 63 56
FEHE H23.4.14 FALL=FH(EH) 140 64 64
2nHhET H23.4.14 RARCW =T (Fih) 110 110 10
ERaEH H234.14 RALL T (E) 3500 3100 3200

BRSEECBITAHEAARE. FOFR4G ) DYERSIE
Ar7F-131:2,000Ba/kg. 2377 4 :500Ba/kg (T2 79 L-134, B2 H L-131D & HiE)




